Q1]...[10 points] Evaluate the following two limits, showing all your work.

lim -1
t—112 — 2t + 1
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Q2]...[10 points] Evaluate the following limits, showing all your work.

Q}Lrgo(\/x2 + 22 — /12 — 27)

e @ T ) (m +m>

K

— Lam }Au —-Q({-zx) RV -

o 1%—2)@ +fx—1x! X'%p(m -ﬁ\@)

— L — * = £ :@
= \+2 + 1, {0 s

o £ [T | s
gt (28 B \,—/—)
or %”7 oL T (2'—\6 O~
L () - ©
e £ C




Q3]...[10 points] Find the equation of the tangent line to the graph of the function y = (z — 1H/3
at the point (2,1). Show all your work carefully. Note that the 1/3 is an exponent (and so denotes a cube
root). You are only to work with ideas and techniques from chapters 1 and 2 of the book (do not use

quick methods or special rules).
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Q4]. .. [10 points] Find the value of the constant ¢ which makes the function f below continuous. Show
how you obtained your answer.

22 +c if r>1
Tz —1 if z<1

continuous at £ = 17 Justify your answer.
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continuous at z = 07 Justify your answer.
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Q5]. .. [10 points] Write down an expression (no proof necessary) for the sine of the sum of two angles
in terms of the sines and cosines of the two angles.

st h) = Seo0d) (st A o (x) s@h)

Show how the expression above is used in showing that the sine function is continuous at an arbitrary
point z.
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